Nadlesnictwo Maskulinskie
mapka sytuacyjna 1 : 500 000

......
------
.......

Y/
V. S

oA,

o . @«ﬂ%ﬂ.@&ljm% :

=71/
s VAT

‘ ‘¥ mw.umn\vﬂ / AN
L3 o o &
I =g} 2 %‘W» S 3
5 2 4 B N | X
7 il

;;;;;

.....

b S

i 7 - Gk
N7 N ==\ Lt =
A )

N
= O

o
g
>
o 2
T @ 2
8 g 5
2 > o3
[=} - <3
£ Q2 o8
) a 8o
— e m z3
K ..... z3 s 25
e s¢e o S2
= S S o
...... Y 58
....... x o N O
] 5 59
\ €E — s'g
s§ 3
— (O3 ac .mm
@ N \ S
— S N\ A 5 ] PRl oy AR RNV 7/ _\
= g
c (0] R - (
2
X ) 4 \
= C ° |
S - - RGN N ESsS)TR e o= AV R s
< © g °
S —~ N
c 2 i 8 k]
E] s £ 3
S = e g £ % ¢
S = 3 S 3 g s -
7] £ g g 2 £ < e %
To] E = g g9 = 2 5 S
N s ° 5 Toc © & 35 a H
= = N > 257% X, @ < 2 5 H
r .S 8 o © NegES2:2 @ @ >x 2 =
- ° N o= - @ kel © 2 o a
- O g g g S k- g2 ¢ ¢
8 @ s E s58Seg E] s t £S5 ¢ I
Hral RERC- = 2 s NINENS & < IS 325 ¢ § » k3]
= O © £y ¢ £ ¢ soasses  § zz3 ¢ & g% 5 § § o
Ry N No® -0 -0 = 2 o, o © =
Sz o g8 g8 g ¢ BERERSRY ¢ 23y 2 % §5 = € 8 5
(&) O3 & : I3 Rfrs ¢ fodolol o g8 £ 8§ Li: i £
@ = 2 35 o N 5 ~ T T ] ) Lc > o
c o = = Q2 = = 13
-~ 8 «% =& giZ 3 g8 2 STETETE 3 22E ] . o8 T 8 & £
Q a = £ £8  toeSifg B § - 3 Sefetes ° 288, 5 8% £ £ % 3 5
- 05 8o 255S5e82 B o < mwm.lm,tm.t 2 NNE2 3 Sg =2 g © ¢ &=
. Q se 52 GNF8¥E5 & » 22 8 g = 2T S 5 NR 5 § & g
- NEE L 8§23%30%0d0 c 228 N
eu.o O 3 o 3E> £5 fEftfs2oo $.3FF {5 2I3lsisis 55 $EE88 g8 30 g 8 8 4
..... -5 5 SO NZ o £ g= = P s £ § 98 £ = £ 2
b - A SO0% 2,99 §H322VEL90 nmaamw T5S S3555000606a ol 5 S g 8§ 2@ £
_— Qooa £3x¢ [2) ° 2 c BxT 2= 0 O
o 'S S 0 O 8885 F3if 8%85c5082 252288 §o2 RETRRRiNNe. SE S43ppsf :Y s 5
$S50.5288ca532085%, daccaa ~c 89 g8 €8 za z @2 X 3x73 =
E o 222588008280 E 0820000220 gNES8os¥onmonos S BT, ZTEOCoCoCad ) 2
o © Z mmmmmmcmmmw.mmwmwnawwm:mmwsmrmmmm.mmmmmmmumwwuommm_ammmmmmaanm 8
| (@) o w5 O S23CvS3€cES 8533 ENS88EL02828805550530°000o0aBSCZEAsIESEITT E8ES g
11| ; . . g
(7] (@) | | : T 3
™M O © ) | ; Pl ; H o . X °
m o m - HEEN L " io EE il M 2at teke ] §
A o " o T (@© w | i (NERS I H
| 8
5
ZN~ 3= N 8




